(IZT&é‘ia % ﬁ"i)

Fal iz 1E 60 1=Y ?h‘qﬁlt “HEL At 1 ESMI,XZN
if??”’ Tb) Ty Pt P taht. :')v#u pFHAL:

B3P Shod $925B g7 2207 L2 FTEE (U
PBIUTow, 3= otk 3A0h 2 §)e17,03:0
0T TrT-ar otz L) %Fﬁ P -4% A
BRI © b FINE PotcEsudre e
2 Bz Wl et R0 3% 412 35
HH g @’W{’&S(T;%ﬂ‘( @ﬁé’na L2’
$33¢F  BRE ) 227124 17,00 3Fad N SE #ﬁTcuw

(%A szraﬁ o 4B 2 Bstobt Gt (23

RN ISE N B R NSRS _L...._ 0t e
@98 ,E#:hgpa [1Z-78: T2 7 HIBRE 1 2
AR-78: -F«Nfl Iz @778 % 351257 (Yp])
® 'C) 5 Awv 7@ |8 £l
o e try g x!

NS B i i
10 11 128 |13 146 |1 |16
i 1 ,{}0?’&4

| [e A~ | 1T
12 188 |19 Dnev |21 ....022 23

/& 1% | % | TEF
_2_4_ . |50 |26 27 28 P v _’va
31 2Ry -_[ JE:J? "‘:

Y%ﬁ%i 3:' v%a’%tﬁjb P2 U%—&Sf? “/3’}<’F‘T\'\




